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A.Permutation

HEN

D00000 $p$, 000000 $10p-1$ 000000 $x_{i+1}=2x_i(modp) \ or\
x_{i+1}=3x_i(modp)$

o

gbobooobooobobooobboon

#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#define 11 long long
using namespace std;
int read

int k=0, f=1;char c=getchar();
;1isdigit(c);c=getchar c=="'-"') f=-1;
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;

int T,d[2000005],ans[2000055],vis[10005];
int ksm(int x,int k,int mod

int ans=1;
ik k>>=1,x=111*x*x%mod

k&1
ans=111*ans*x%mod;

ans;
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int main
T=read();T;T--

int p=read();
p:: pUtS ||1|| ; ;
int now=1,tot=0,sum,cnt=1,len;

r

d[now 7
tot++;
dlnow|=1;
ans|tot/=now;
now=now*2%p ;
// cout<<tot<<" ";
sum=(p-1)/tot; len=tot;
tot!=p-

cnt++;
int i=1;i<p;i++
Id[ 1 now=i; ;

r

d/now ;
tot++;
d[now|=cnt;
ans|[tot|=now;
now=now*2%p ;

int ans=-1;int pw=ksm(2,len-1,p);
int i=1;i<p;i++

now=i;int fl=0;
int j=1;j<=sum;j++

vis |/ d|[now fl=1; ;
vis/d[now! |=1;
now=111*now*pw%p;
now=now*3%p ;

int j=1;j<=sum;j++
vis|j|=0;
Il ans=i; ;

int i=1;i<p;i++
dil/=0;
ans==- puts("-1");
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int i=1;i<=sum;i++

printf("sd ",ans);
int j=1;j<len;j++
ans=ans*2%p,printf("%sd ",ans);
ans=ans*3%p;

puts mnin ;

C.Decrement on the Tree

ggboboogopoohuoooboboobbooobboaon
O

O0000000000dp$fis 000 $i$00000000000000000O00%f i= max(mx_i-
Vi (sum_i-v_ i)/2)$ $mx s 000 000000,%sum is0000000000O,%vi$0000000

000000 $fis00 $is000000000000000O0ODO0O0O0ODOOOO $fis000O0O0OO

ogoooo

#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#include<set>
typedef long long 11;
using namespace std;
int read

int k=0,f=1;char c=getchar();
;1isdigit(c);c=getchar =='-"') f=-1;
;isdigit(c);c=getchar k=k*10+c-'0"; k*f;

const int N= ;

int n,m,tot,fa/N|,to[N|/,head[N],nextt/N/,dep[N];
int alN!,b[N],c[NI];

11 res,sum[N]|,mx[N],mx2[N!,val[N],f[N],w[N]I;
multiset<int> st[N];

void add(int a,int b,int c
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to|++tot|=b;
nextt|/tot!=headlal;
head a|=tot;

w tot|=c;

void dfs(int u,int F,int d

deplul=d;falul=F;
int i=head|ul;i;i=nextt|[i
to/i]!=F

valltolil|=w[i];
dfs(toli],u,d+1);
sumful+=wli];

wlil>mx[u mx[ul=w/il;
stlul.insert(wl[i]);

sum/ul<=vallu flul=0;
res+=(flul=max(mx[ul-vallul, (sum{ul+l-vallul)/ ;

int query(int x

Ist[x].size ;
multiset<int>::iterator it;
it=st[x].end();it--;

*it;

int main

n=read();m=read();
int i=1;i<n;i++

alil=read();bl[il=read();clil=read();
add(alil,blil,cli]);add(bli],ali],cli

dfs(1,0,1);
printf("sLld\n",res);
int i=1;i<=m;i++

1l x=read(),y=read();
int u=alx],v=b[x];

deplul<dep|v]) swap(u,v);
stlv].erase(st[v].lower bound(c[x ;
stlv].insert(y);
res-=flul;flul=0;

sum/ul>y

flul=max(query(u)-y, (sumful+l-y)/2);

res+=flul;
res-=flv];flv|=0;
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1l s=sum/v]|-c|x]|+y,mxx=query(v);

s>vallv

flvi=max(mxx-val|lv], (s+l-vallv])/2);
res+=flv];
vallul=y;sum|v]+=y-c[x];c[x]=y;
printf("slLld\n",res);

D.Hearthstone Battlegrounds

HEN

RN

E.Game

an

un

G.Math Test

oo

goooad
J.ldentical Trees

g
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HEN

O$dplxllyl$ 00000 O0O%x$0 0000000 S$y$00DO0ODOO0ODOO0OOODOOOO0OOOD
O$xOy$0 0000000000000 000O0O0O00O0ODODOO0O00ODOOO

0O $dp[vl][v2]$0$v1s$sv2$0x,y0 0000000000000 DO0OOO00ODOO0O0O0ODOOOO0
O 0$dpix]llyl=mincost+(x!=y)$ OO 000000 OO0%$O0(n™5)$0 0000000000

0000000000000 0000000sizel00DO0OO0O0OOOO

#include<bits/stdc++.h>

using namespace std;

#define mem(a,b) memset(a,b,sizeof(a))
typedef long long LL;

typedef pair<int,int> PII;

#define X first

#define Y second

typedef unsigned long long ULL;

inline int read

int x=0,f=1;char c=getchar();

lisdigit(c =='-')f=-1;c=getchar();
isdigit(c)) {x=x*10+c-'0"';c=getchar();
x*f;

const int maxn=600;
int n,rtl,rt2,a,sizel[maxn|,size2 maxn|,dp/maxn]|[maxn/;
vector <int> Gl[maxn],G2[maxn!;
int prime/maxn],len;
ULL H1l[maxn]|,H2[maxn];
struct ZKW
int n,m,s,t,cost,ans;
int
d/maxn<<l],vis|[maxn<<l],first/maxn<<l],ing|/maxn<<l],next[510*¥510%2];
struct Edge {int from,to,flow,cost; jedges/ 510*510%2;
void init(int n
this->n=n;m=0;
memset(first,-1,sizeof(first));
memset(inq,0,sizeof(inq) );

void AddEdge(int from,int to,int cap,int cost
edges/m|=(Edge) {from,to,cap,cost};next|[m|=first|[from|;first|from|=m++;
edges m|=(Edge) {to,from,0,-cost};next m/=first/to];first|[to/=m++;

int BFS
int i=1;i<=n;i++) d[i]=maxn;
queue<int> Q;Q.push(t);d[t]=0;
1Q.empty
int x=Q.front();Q.pop();inq[x]|=0;
int i=first(x];i!'=-1;i=next[1i
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Edge& e=edges|i™l];
e.flow&&d|e.from|>d[x]+e.cost
dle.from|=d[x]+e.cost;
lingle.from inqle.from|=1,Q.push(e.from);

int i=0;i<=m;i++) edges|(i].cost+=d[edges(i].to]-
diedges/i|.from/;
cost+=d[s]; dls|!=maxn;

int DFS(int x,int a

==t||'a) {ans+=cost*a; a;
int flow=0,f;vis|[x]|=1;
int i=first[x];i!=-1;i=next|[1i

Edge& e=edges|i];
e.flow&&!e.cost&&!vis/e.to|&&( f=DFS(e.to,min(e.flow,a
e.flow-=f;edges[i"1].flow+=T;
a-=T; flow+=T; la ;

flow;

int solve(int s,int t
this->s=s;this->t=t;ans=cost=0;
BFS memset(vis,0,sizeof(vis)); DFS(s,maxn) ) ;
ans;

sol;
bool vis 5
void init(int x
int i=2;i<=x;1i++

lvis[i])prime[++len|=1i;
int j=1;j<=len && i*primelj<=x;j++

vis| i*prime|j||/=1;
i%sprimelj|== ;

void dfsl(int now

Hl now|=sizel|now!=1;
int v:Gl[now

dfsl(v);
Hl now /+=H1|v|*(ULL)prime|sizel|v]|;
sizel| now!+=sizel|v];

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

;828}8:8/14 2020-2021:teams:die_java:front_page_summertrain12 https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:die_java:front_page_summertrain12&rev=1597390472

15:34

void dfs2(int now

H2 [ now|=size2 now]|=1;
int v:G2[now

dfs2(v);
H2 now|+=H2|v|*(ULL)prime|size2/v||;
size2/now|+=size2|v];

void DP(int x,int y

dp[x]|[yl=maxn;
Hl x| !=H2[y| || sizellx|!=size2|y ;
sizel(x|==1 && size2l|y|==

dpix!lyl=(x!=y);

’

int v1:G1l[x
int v2:G2y|)DP(vl,v2);
int N=2+Gl[x].size()+G2[y].size(),s=1,t=N;
sol.init(N);
int i=0;i<Gl[x].size();i++)sol.AddEdge(s,i+2,1,0);
int i=0;i<Gl[x].size();i++
int j=0;j<G2[y].size();j++

int v1=Gl|x|[i],v2=G2[y![]];
Hl vl|==H2[v2]| &&
sizel[vl]|==size2[v2])sol.AddEdge(i+2,j+2+G1l[x].size(),1,dp[vl][v2]);

int 1=0;i<G2|y]|.size();i++)sol.AddEdge(i+2+G1[x].size(),t,1,0);
int ans=sol.solve(s,t);
dp/ x| lyl=ans+(x!=y);

int main
init C
n=read();
int i=1;i<=n;i++
a=read();
a==0)rtl=1i;
Glla].push back(i);
dfsl(rtl);

int i=1;i<=n;i++

a=read();
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a==0)rt2=1;
G2[a].push back(i);

dfs2(rt2);
DP(rtl,rt2);
printf("sd\n",dplrtl![rt2]);

’

ooon

oo

wxg: 0000
hxm:

fyh:
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